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L* 80/L* 80,u HAULAB-Helligkeit L* 80 normiert
für die UmgebungsHelligkeit L* 80,uL*/L* 80,u

Y_curve, ij=3, Yuij=11, L*uij=50
k=99, Ykij=100, L*kij=115,3, L*/L* u=2,30
k=11, Ykij=12, L*kij=50,4, L*/L* u=1,00
k=1, Ykij=2, L*kij=20,7, L*/L* u=0,41
k=0, Ykij=1, L*kij=12,9, L*/L* u=0,25
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L* TUB/L* TUB,u

=(Y/Y)u
1/ln (10)

Yu=11

mu90_4 = 0,901, f90=111, f4=33

mu = 0,941

L* =s(Y/Yn)n−d (Yn=100,Yu=11,s=134,6, n=0,31, d=19,2)[1a]
L* =r (Y/Yu)n−d (r = s (Yu/Yn)

n=79,10, L*u= r−d =59,8) [1b]

Anwendungs-
bereich

ϕ=120’
Law=40cd/m2


